Given right triangle ABC with right angle C. Find the value of sine, cosine, and
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Find the missing side length
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Find the angle measure. @ - Thebe
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Solve the right triangle — A\ wissiny Sikes
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The length of a diagonal of a square is 12 in. Find the area of the square.
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The altitude of an equilateral triangle is 15 cm. Find the perimeter of the
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The height of an inaccessible cliff needs to be calculated. From a boat, which
iIs 150 m out from the bottom of the cliff, the angle of elevation to the top of the
cliff is 54°. Find the height of the cliff.
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A ladder is leaning against a building. The ladder is 10m long and it is
sitting on the ground 4m out from the building. What is the angle that
the ladder makes with the ground?
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A gangplank is a narrow ramp used for boarding or leaving a ship. The

maximum safe angle of elevation of the gangplank is 20°. Suppose a gangplank
is 10 feet long. What is the closest a ship can come to the dock for the

gangplank to be used? o
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To measure the height of a mountain, a surveyor takes two sightings of the peak
at a distance 900 meters apart on a direct line to the mountain. The first observer
results in an angle of elevation of 47 °, where as the second result has an angle

of elevation of 35°. The transit sits 2 meter high, what is the height h of the
moumtain?
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The angle of depressioin from the top of one building to the foot of a building
across the street is 63°. The angle of depression to the top of the same building
33°. The two buildings are 40 feet apart. What is the height of the shorter
building
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Nicole went for a walk in the city park. To cut across the rectangular park, she
chose the path shown by the dotted line in the drawings below. At what angle,
X, did Nicole cut across the park? Round to the nearest tenth of a degree
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